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g(x) = (1 − |x|2)e−|x|2/2, &)'
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G(x) = (1 − |x|m)e−|x|m/m, (m > 0), &('

��!$� �����������-�	� �����	�� &:�)'�
3������	� ��!$� ����	�������� ������� �������
����	�5

Wf(s, x) =
N

sδ

∫
T (s, u) gs(x − u) du. &E'

+������������� ��.� ���������	�Wf(s, x) ���	*����� �� ���������� � ������ ��"
 ����
$	����� s1−δ N � ������	� ������� ���$	���� ����������� ���� *�� ��	 	�����
����		
�����������  ���� ����	��������� ������� �������
����	� ���*�� �� �����������
����	���� ��!������ !�������� 	�������� �	����� � ��� ������� ����
�� ,�����
����
�	� ���������� ��.� ����	����*���� ���$	���� ��	 ���������� ������ ��������� δ
��
������ ������	�� 0��� ���������!�
1�� ������������	� 	�������� �	����� �� ��� ������� ����
� 	�����
����� �������

������������	� &�������� ������� �������
����	�'5

f(x) =
1

N Cg

∫ ∞

0
Wf(s, x)

ds

s3−β−δ
. &#'

1�� ��!������ �	��� �����	��!	� ���������� � ��� *	��� 	 ��� <=>?@AB CADF� �
!�*����� ��
	�� ������������	� ����� ���� 	�����
����� δ− ��!%		 ���
� ,�����
��
���	� ������� ��
	�� ��
����� ������	�� 
��	�� ������� ������������	�5

f(x) =
1

N C ′
g

∫ ∞

0
T f(s, x)

ds

s2−β
. &G'

6����

Cg =
√

2 π
∫ ∞

0
Fg(ω)

dω

ω
. &2'

�



� �������.�� ���*�� β = 25

f(x) =
1

N C ′
g

∫ ∞

0
f̃ [2](s, x)ds , &�"'

��� *���
 f̃ [2](s, x) ���
��*��� ������� �������
����	� T f(s, x) ��	 β H ��
3���� ������� �����	�� �����������- ������������ ������� �������
����	�� �

��� ������� *�� ��
�	*��� !��������� T f(s, x) �� ������������ � ������������ ����
.����� s� +�	 0��� ������ ������� �������
����	� ��$�� ���� ������������� �� ���
*���	� ,
����*����� ������� �������
����	� ����$����� *���
 ��! ��
������� ����

�������������� ��)
�

��
��� 	

���
���

��
 1���.	�22� ��� �� 
!"�# $� %	
���
#IJK<LM?NAO=NPM?A� ����!	� �������� &�""�'

��
 �	��
�� ���� &�""�'

�:
 QA9RFM=S TU�V�� IRN8F WAX?B? Y�� <8BDU89? <�� L?=D98B=98 W��22( V?FDAF ?B KFD98B�
8ZR��)�2

�)
 [ADANA [�� Y8?B\ Q�C�� QAUO9ABO ]�� [A8 C�� [MA9 I�� [MAD^?@M9?FD8U C�� [UXR ]�_��
[^A9BR ]�� `9=U> <�� Y=N=BX8a L�� YN8bU=D <�� _U=9?B ]�� CUAB\ W�� CUX=9D�`=NPNA@=
K�<�� CUX=9D C�� CU8S=N?B ]�� ]ABa8S I�� ]?AB\ I�� W? c�� d=e ]�f�� L=D98S L�� IASAB8S J��
IM@M=9XAa8S K�� I?Z8B g�� gU8Z?B=B J�� hMA? `��22: KiK����)(

�(
 _?NN K�_�� C=B9?aF=B j�d��22" KP�]���W�#

�E
 C=B9?@MF i [AP=9 �22)KiK���W�#&�22)'

�#
 C=B9?aF=B j�d��22) KPIP�I@?����(

�G
 kM8NDR\?B K�Y��22:L98@==O?B\F 8l DM= JKm IRZP� d8 �E�

�2
 WAB\=9 n�`�� n?NF8B j�n�� KBO=9F8B [�C� �22:KP�]���W)(

��"
 Wo=P?B= I��22)KPIP�I@?����(

���
 Wo=P?B= I� =D AN� KP]&�22E'

���
 <8eAD K�Y�]�� W=P?B= I�� C=B9?aF=B j�d��j8X=9D [�22) KPIP�I@?����((

��:
 Ll=BB?\=9 `�� [8ZX=F Y��22)KiK���2)

��)
 jAU^R =D AN� &�22:'

��(
 IDA9@a ]�W�� <U9DA\M Y��22)KiK���:)�

:


